Subject: Re: using svy command and getting out p-values
Posted by chichi on Thu, 23 Mar 2017 13:19:35 GMT
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Thank you for your efforts!

| want to analyze if there is a significant association between five-year age group and knowledge
of AIDS among men. | merged women's and men's data, so my variables are v751 and v013. My
analysis just includes ages 15-49 years.

| made it in the following way:

svyset [pw=wgtl], psu (v001) strata (v023)
svy: tab v013 v751 if gender=="men", missing row

The output includes:
Pearson:

Uncorrected chi2(12) = 17.3136
Design-based F(9.81, 5109.55)= 1.2050 P =0.2830
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